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VE (Digite! Comm. Systems) Il-Semester Exam Jun_e-ZDGT_
Fdvanced Data Structure and Algunthm -r

L
-,

‘Subject Code; E3901 ‘ S A S \

e . i - Max.;_Mﬂfké: 80
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Arfampf any FNE quas tions.
Kariis of cruesrmn.s are md:catad against each qua* tmn.

¢ () Wb-:l properiics characterize 7-4 tree? Dlscuﬁ d:l‘f‘::rent cascs ut':nscrstmn ina2-4 trcc '
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What do you understand by fusion? Explain. - o R ]
(b What do you waderstand i'-x :.‘muh’u red™ pﬂ‘.rhlq..nl . I.‘uﬁ.tm dl!'lt,n,nl {.JH‘ES u_i vr:ﬂ'.m?.:.l int
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red-black tree. :
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0Q.2{(z) Prove that- :
& g 3P (x)=r(x))-2 Tor zigrag npu.r.mun of o -.pl.w wee T '*.’\ h-.n. 8 i |s thr: Wnalmn n[' :{T}
caused by a :m--lw. splaying substep. & ! - |
(b) Explain2 dimensional range scarch algorithm wn.h a sunabic c\mmpl it ; i
I ; Ly
QO3 Why Graham sean Algorithng s m;mnnnt" Whmh a‘.gomhm is hutlcr I'-elwcﬂ: {J_;E
- wrapping and Graham Scan? Why? in -.: + . _- “;|- N 7

1.4(a) mf.rl.:m Edmond s-marp Algorithm. Prove Lhm maxlmum ﬂow is campute:d in ﬂ{nm}
:J-
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'*'{bj Cliven a n-vertex ow’ na.,umrk N with l:asls assumalcd wﬂh lis m cdg:s, mj_.,t_t.lmr a
' maximum flow [¥. Prove that @ maxinzum ﬂnw of minimum ;ff-t lr.:an be cnmputcd 1n

C{w* )“mL Where w* is tlm total cost of f‘ LT

i.;;
\(y What is CREW FRA‘H Model? Expluin recursive duublmj,., lechmque Gwe alganlhm {md
simplement it with 16 node list raukmg prnblmn ; ki : J'; by D
G(a) - Anelyze Birthday paradox problem with indicator r‘dndmn mnablcs
= {b) Yhatis c-r--.;. - ;erg problem? Explain it wuh asultabic cxanml-: S
L .IF Ip1 L; i S .a, :'_
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Q.7  _Wiat do you understand by nrimal-dusl? Explain Sln‘.lpll:!"i algnmhm w:th a suitablc
‘ny”ﬁﬁl{, P
Q.2 VWrite short n¢i2S o any two |
C ) Voronoi Dlrnrim

&) Parallel } Iilroing
¢} Persistence
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